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Amazing session
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Thanlyou Sifor this Amazing Class session oftoday’s.. 4 , &

And

My Answer for today's homework is like-
Option B- 30 days

As per my calculations

(A+BM10 = (M4B)17+ B0

(A+B)13= B0
(A+B)=3B.-A:B=2:1

S0, fota work =310,

Done by B alone = 30/1 = 30 days.
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Thankyou S0 Much, Sirji. )
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If a 120 meter long train crosses a man in 27 sec then find the speed of train in
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A train 300 meter long is running at the speed of 25m/sec. It will cross of a bridge of

200 meter longin ?
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A 150 meter long train crosses a pole in 9 sec and crosses a platform in 45 sec then
find the length of Iatform?
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A 120 meter long train crosses a river bridge in 30 sec and crosses a railway signal in
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A train crosses a 100 meter long platform in 45 sec and a pole in 27 sec. find the
length of train?
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A train passes two bridges of lengths 800 meter and 400 meter in 100sec and 60sec
respectively. The length of the trainis ?
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A train takes 18 sec to pass through a platform 162 meter long and 15sec to pass another
pIatform 120 meter Iong Then find the lepgth of train?
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A train 180 meter long moving at the speed of 20m/s over takes a man moving at a speed of
10m/s in the same direction. The train passes the manin ?
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A train of length 150 meter takes 10 sec to cross another train 100 meter long coming from |
opposite direction. If the speed of first train 30 km/h then find the speed of another train?

faudig 3T |
15%?@@%%@%% Wﬁrso%:ﬂm?/ﬂ%ﬁ%%aﬁaﬂﬂﬁrm




Two trains travelling in same direction at 40 km/h and 22 km/h respectively completely cross
each other in 1 min. If the length of first train is 125 meter and find the Iength of another, tram ?

‘ éqﬁ?m%sna




Two stations A and B are 220km apart on a straight line. One train start from A at 8am and
travelled towards B with speed 20km/h. Another train start from station B at 10am with speed
of 25km/h. find at what time they will meet?
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Two stations A and B are 330km apart on a straight line. One train start from A at 8am and
travelled towards B with speed 60km/h. Another train start from station B at 9am with speed of
75km/h. fmd what time they will meet?
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If the train moves 11/8 of its normal speed then it takes 22hrs to cover a certain distance. If
train moves its new speed then how much tg]e it will save?
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The ratio of length of two trains is 5:3 and the ratio of their speeds is 6:5. The ratio of
time taking by them to cross a pole is?
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The speed of two trains are in the ratio 6:7. If the second train runs 364 km in 4 hours
then find the speed of first traln?
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Two trains start from a certain place on two parallel tracks in the same direction. The speed of

the trains are 45km/h and 40km/h respectively. The distance in km between the two trains after
45 mln WI|| be?
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Two trains X and Y start from station A and B towards B and A respectively. After passing each
other they take 4hr 48min and 3hr 20min to reach B and A respectively. If the speed of first train
is 45km/h then find the speed of gnother traip?
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